Product Manual - Secondary Framing - Spandrels

SB10/AA, Spandrel Beam to Stiffener at Column Web - Bolted Connection
SB11/AA, Spandrel Beam to Stiffener at Column Web - Bolted Connection
SB12/AA, Spandrel Beam to Column Inside Flange

SB12A/AA, Top View at Spandrel Beam to Column Inside Flange

SB12B/AA, Top View at Spandrel Beam to Column Inside Flange with Field Weld
SB13/AA, Spandrel Beam Flange to Bracket at Corner Column Web

SB14/AA, 8" Spandrel Beam at Corner Column with Corner Transition
SB14B/AA, 8" Spandrel Beam at Corner Column with Corner Transition
SB15/AA, Section at 8" Spandrel Beam Connection to Column Flange

SB16/AA, 8" Spandrel Beam and Interior Column Flange Connection to Clip

3/8/2018




PRODUCT MANUAL

SECONDARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Spandrel Beam to Stiffener at Column Web - Bolted Connection
Flush Spandrel Beam
SB10/AA

¢ vaREs 112" SPANDREL BEAM (LENGTH VARIES)

STIFFENER

/" (SHOP WELDED)

3/16"
" CONNECTION
316 PLATE
SBCP_ _

/ \

STIFFENER TO

EXTEND TO d
SPANDREL BEAM
INSIDE FLANGE
STIFFENER & BOLT
SPACING DIMENSIONS

172" COLUMN
3/4X2 A325T | QO l | O O FLANGE| a | b |, EVr, | PLATE
3/4 HVHX NUTS \ 3" WIDTH
(6) PER CONNECTION PLATE N = |7l3] sz
o /o OF
| 6“ 3" 3“ 8 1/ n
. g |4"|4| 912 | sBCPOS
10" |5 |5 | 102" | sBCP10
I | 122 6|6 | 1112 | sBCP12

ke 1 3 114" \
11/4 SPANDREL BEAM

COLUMN SBW-
b
SPANDREL BEAM TO STIFFENER AT COLUMN WEB - BOLTED CONNECTION SB10
FLUSH SPANDREL BEAM AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/SB10AA.dwg

PRODUCT MANUAL

SECONDARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Spandrel Beam to Stiffener at Column Web - Bolted Connection
Inset Spandrel Beam
SB11/AA

¢ VARES 112" SPANDREL BEAM (LENGTH VARIES)
STIFFENER
a / (SHOP WELDED)
CONNECTION
; PLATE
3116 el
3/16"
STIFFENER TO < f
EXTEND TO
SPANDREL BEAM
INSIDE FLANGE STIFFENER & BOLT
SPACING DIMENSIONS

11/2" COLUMN

I PLATE
Q | Q 1 FV';,?STCI;_'E alb LENGTH PLATE
'@ H Q § i o KN AT SBCP05
| | | ] 6" |3 |3"| 81/2"
i
4 HEXNUTS & |o|«| o1z | secrus
(6) PER CONNECTION PLATE / o 100 1515 | 1012 | sscpio
| 12" [6"|6"| 111/2" | SBCP12
11/2"
12" 11/4" \\’
1141 3 114"
COLUMN SPANDREL BEAM
SBW-
b
SPANDREL BEAM TO STIFFENER AT COLUMN WEB - BOLTED CONNECTION SB11
INSET SPANDREL BEAM AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/SB11AA.dwg

PRODUCT MANUAL

SECONDARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Spandrel Beam to Column Inside Flange
Wide Flange Spandrel Beam

SB12/AA
SB12A| or [SB12B
i AA AA
T T (2) 314 A325T /
3/4 HVHX NUTS WITH
(4) 3/4 H WASHERS
(ONE EACH AT CLIP SIDE)
(4) 3/4 A325T |
3/4 HVHX NUTS WITH CLIP
3/4 H WASHERS, MZC2
(AT CLIP SIDE) (2) PER END CONNECTION,
ONE EACH SIDE OF
SPANDREL BEAM WEB

\L SPANDREL BEAM

SBW- / SBC-
\ COLUMN
T T FLANGE
SPANDREL BEAM TO COLUMN INSIDE FLANGE SB12
WIDE FLANGE SPANDREL BEAM AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/SB12AA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

SECONDARY FRAMING

Top View at Spandrel Beam to Column Inside Flange

Wide Flange Spandrel Beam

SB12A/AA
\“‘\/\ _—13/16"@ HOLES
(2) 3/4 A325T /
p 1 3/4 HVHX NUTS WITH
(4) 3/4 H WASHERS
| || (ONE EACH AT CLIP SIDE)
SPANDREL BEAM / 11/2"
SBW-/ SBC- -
/ n
cp—— | 3
MZC2 ' '
(2) PER END CONNECTION, — T
ONE EACH SIDE OF |
SPANDREL BEAM WEB
COLUMN
INSIDE FLANGE
13/16"Q HOLES
51/2"
(4) 3/4 A325T /
3/4 HVHX NUTS WITH
3/4 H WASHERS,
(AT CLIP SIDE)

TOP VIEW AT SPANDREL BEAM TO COLUMN INSIDE FLANGE

REFERENCE DETAIL: SB12AA

SB12A

WIDE FLANGE SPANDREL BEAM

AA

To Section Index

Download the DWG file by clicking here.

Issued 9/28/2016


../../SSUB/SB12AAA.dwg

PRODUCT MANUAL

SECONDARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Top View at Spandrel Beam to Column Inside Flange with Field Weld
Wide Flange Spandrel Beam Designed as a Strut with Axial Load

SB12B/AA
SPANDREL BEAM _\,\/
SBW- / SBC- \\ _—1316"B HOLES
—— (2) 314 A325T |
o 1 3/4 HVHX NUTS WITH
(4) 3/4 H WASHERS
cup—— || | | (ONE EACH AT CLIP SIDE)
MZC2 —
(2) PER END CONNECTION 11
ONE EACH SIDE OF _
SPANDREL BEAM WEB
/
/ 3
FIELD WELD REQUIRED — \@m o ]
SPANDREL BEAM 316" |,/ 12"
IS DESIGNED AS A |
STRUT WITH AXIAL LOAD.
FIELD WELD REQUIRED AT COLUMN
BOTH CLIPS, INSIDE FLANGE
TOP AND BOTTOM.
13116'0 HOLES
51/2"
(4) 314 A325T |
3/4 HVHX NUTS WITH
3/4 H WASHERS,
(AT CLIP SIDE)
L ] REFERENCE DETAIL: SB12AA
TOP VIEW AT SPANDREL BEAM TO COLUMN INSIDE FLANGE WITH FIELD WELD SB12B
WIDE FLANGE SPANDREL BEAM DESIGNED AS A STRUT WITH AXIAL LOAD AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/SB12BAA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

SECONDARY FRAMING

Spandrel Beam Flange to Bracket at Corner Column Web
Wide Flange Spandrel Beam
SB13/AA

BRACKET
SBWBK-LENGTH

SPANDREL BEAM
SBW- \

CORNER COLUMN
RACKET
SPANDREL BEAM SBWBK LENGTH
112 A325T/
112 A325T/ 1/2 HVHX NUT
112 HVHX NUT
11| T1 102
(K3 | J_1 "
SECTION A-A

(4) 112 A325T/
TZHVHXAUT
9ME'GHOLES

*l

IA

SPANDREL BEAM FLANGE TO BRACKET AT CORNER COLUMN WEB

2T

\CORNER COLUMN

(4) 112 A325T/
112 HVHX NUT
916"B HOLES

VARIES

SB13

WIDE FLANGE SPANDREL BEAM

AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/SB13AA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

SECONDARY FRAMING

8" Spandrel Beam at Corner Column with Corner Transition

Hot-Rolled Channel Spandrel Beam at Top of Partial Height Hard Wall System (By Others)

112 A325T/
112 HVHX NUTS
Wi 1/2 FLAT BEVEL WASHERS
{2) PER CONNECTION
(NOTE: 1/2 FLAT BEVEL WASHERS
ARE SPECIAL ORDER ITEMS) SPANDREL BEAM
SBC-
SPANDREL BEAM (8" HOT-ROLLED CHANNEL)
(6" HOT-ROLLED CHANNEL) WITH SHOP WELDED,
3" X 14" X 8", END PLATE
916'0 HOLES
HARD WALL SYSTEM
HARD WALL SYSTEM (BY OTHERS)
{BY OTHERS)
SECTION A-A
[ SB15 |
CORNER T
COLUMN \
ENDWALL
[ ] /
SPANDREL BEAM
/ SBC-
172 A325T/
412 HVHX NUTS
(2)PERCLIP
CLIP A
cL4 wICL-4; 1] e 1
ALT. BENT CLIP | 21
SBEPC
(SPECIFY CLIP ON
ERECTION D ) | y |
\ Lo e P
\J | |~ T — 1z am
O — 112 HVHX NUTS
| 112 | wi 1/2 FLAT BEVEL WASHERS
— [ (2) PER CONNECTION
o—
, J
(2) 1/2 A325T/ SIDEWALL \ A
112 HVHX NUTS SPANDREL BEAM
WI1I2 H WASHER, AT CLIP SIDE SBC-
{2) PER CLIP CONNECTION =
(STAGGER BOLTS AS SHOWN)
9M6'GHOLES
8" SPANDREL BEAM AT CORNER COLUMN WITH CORNER TRANSITION SB14
HOT-ROLLED CHANNEL SPANDREL BEAM AT TOP OF PARTIAL HEIGHT HARD WALL SYSTEM (BY OTHERS) AA

To Section Index

Download the DWG file by clicking here.

Issued 9/28/2016


../../SSUB/SB14AA.dwg

AMERICAN
BUILDINGS

A NLWCOR COMPANY

PRODUCT MANUAL

SECONDARY FRAMING

8" Spandrel Beam at Corner Column with Corner Transition
Hot-Rolled Channel Spandrel Beam at Top of Partial Height Hard Wall System (By Others)

SB14B/AA

To Section Index

112 A325T/

1/2 HVHX NUTS

W/ 1/2 FLAT BEVEL WASHERS

{2) PER CONNECTION

(NOTE: 1/2 FLAT BEVEL WASHERS
ARE SPECIAL ORDER ITEMS)

'SPANDREL BEAM
SBC-
(6" HOT-ROLLED CHANNEL) SPANDREL BEAM
WITH SHOP WELDED, (8" HOT-ROLLED CHANNEL)
3" X 1/4° X 8", END PLATE
9/16"3 HOLES o
HARD WALL SYSTEM
(BY OTHERS) HARD WALL SYSTEM
(BY OTHERS)
SECTIONA-A
[sB15 |
CORNER m —— T
COLUMN \
ENDWALL
[ ] /
‘SPANDREL BEAM
/ SBC-
112 A325T/
112 HVHX NUTS
(2) PERCLIP
CLIP
CL4 wICL4B 1 hve
R 1
ALT. BENT CLIP |
SBBPC
(SPECIFY CLIP ON L— 112 A325T/
ERECTION D ) L 1 112 HVHX NUTS
§ T wi /2 FLAT BEVEL WASHERS
Bl B F (2) PER CONNECTION
oL«
[ L B
I |
|
) 1
(2) 112 A325T/ SIDEWALL \
112 HVHX NUTS = SPANDREL BEAM
Wi1/2H WASHER, AT CLIP SIDE SBC-
(2) PER CLIP CONNEGTION
(STAGGER BOLTS AS SHOWN) I
916"B HOLES A I A
8" SPANDREL BEAM AT CORNER COLUMN WITH CORNER TRANSITION SB14B
HOT-ROLLED CHANNEL SPANDREL BEAM AT TOP OF PARTIAL HEIGHT HARD WALL SYSTEM (BY OTHERS) AA

Download the DWG file by clicking here.

Issued 9/28/2016


../../SSUB/SB14BAA.dwg

PRODUCT MANUAL

SECONDARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

Section at 8" Spandrel Beam Connection to Column Flange
Hot-Rolled Channel Spandrel Beam at Top of Partial Height Wall System (By Others)

SB15/AA
COLUMN
112 A325T/
112 HVHX NUTS FLANGE

Wl 112 H WASHERS

AT CLIP SIDE

(2) PER SPANDREL

END CONNECTION

21/2"
SPANDREL BEAM
SBC- \
(8" HOT-ROLLED CHANNEL)
114"
CLIP ]
114"
CL-4 WICL-4B
OR
ALT. BENT CLIP 112 A325T/
SBBPC
(SPECIFY CLIP ON (12? Ee/r? )éﬂgTs
ERECTION DRAWINGS)
HARD WALL SYSTEM
(BY OTHERS)
FIELD NOTCH AROUND
CLIP AS REQUIRED
SECTION AT 8" SPANDREL BEAM CONNECTION TO COLUMN FLANGE SB15
HOT-ROLLED CHANNEL SPANDREL BEAM AT TOP OF PARTIAL HEIGHT HARD WALL SYSTEM (BY OTHERS) AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/SB15AA.dwg

PRODUCT MANUAL

SECONDARY FRAMING

AMERICAN
BUILDINGS

A NLWCOR COMPANY

8" Spandrel Beam and Interior Column Flange Connection to Clip
Hot-Rolled Channel Spandrels at Top of Partial Height Hard Wall System (By Others)

SB16/AA
~— INTERIOR
COLUMN
CLIP SB15
1/2 A325T/ CL4 wiCL-4B )
1/2 HVHX NUT OR
(2) PER CLIP Q\ETB-P%ENT CLIP
1141 |1 14"
| i (SPECIFY CLIP ON
ERECTION DRAWINGS)
[ 0 |
4 I T
= U L[ |
= | |
‘“ | |
+— D | D
R | |
| |
D || D
L g
/
==y
SPANDREL " H\}{_IZXASEf}TS’ 104" SPANDREL
BEAM BEAM -
SBO. w/ 1/2 H WASHERS ey
. LT, AT CLIP SIDE TP e
(8" HOT-ROLLED CHANNEL) (2) PER SPANDREL (8" HOT-ROLLED CHANNEL)
END CONNECTION
8" SPANDREL BEAM AND INTERIOR COLUMN FLANGE CONNECTION TO CLIP SB16
HOT-ROLLED CHANNEL SPANDREL BEAM AT TOP OF PARTIAL HEIGHT HARD WALL SYSTEM (BY OTHERS) AA

Download the DWG file by clicking here.

To Section Index

Issued 9/28/2016


../../SSUB/SB16AA.dwg

	SB10/AA
	SB11/AA
	SB12/AA
	SB12A/AA
	SB12B/AA
	SB13/AA
	SB14/AA
	SB14B/AA
	SB15/AA
	SB16/AA

